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Short Answer Questions
For the short-answer, please write directly on the exam. Att
pages but clearly indicate that you have done so. Based on the readings and/or discussion in lecture, please

ach extra sheets or write on the back of any of the

answer the following questions.

Lectures

1. Define the “Environment Map” in a few sentences. Why does the environment map matter to an
entrepreneur? The map consists of four forces/categories. What are the four forces/categories? Briefly
—_____(in afew sentences) define each of the four. Cite an example of each of the four categories and explain
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7. The “Business Model Canvas” consists of nine basic building
ribe it in a sentence Or
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blocks. Sketch the canvas and label each of

two. (9 }wmté)
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the nine blocks. For each labeled block, desc
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ationship Funnel, for a Physical Product as shown below (6

3. Fillin all the elements for the Customer Rel
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Industry Life Cycle.

Please “sketch” the industry life cycle (for “hot industries” like the early automotive industry)
and label the reglons Be sure to label the “x” and “y” axes of the graph as \{vell. (5 points)
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b. You are having a discussion with a classmate about the industry life cycle. She says “the reason
in general for the approximately zero slope on the industry life cycle curve during maturity is
due to steady or slightly decreasing demand for the technology during that period on the
curve.” Is your classmate right (yes/no)? Explain your answer (5 points).
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value Proposition Design & Business Model Generation
The following questions are based on the text Value Proposition Design by Professor Alex Osterwalder et. al.

You also read selected chapters from the book Business Model Generation, by Osterwalder & Pigneur. Please

answer these questions using the information found in the texts.

6. Sketch and label the “Value Proposition Canvas” (hint: the “circle” and the “square”). After labeling
each, please provide a few sentences describing each of the label quadrants / “pie” sections. (10 points)
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Diffusion of Innovation Model & Crossing the Chasm

7. As discussed in lecture, in 1962 the sociologist Everett Roger’s proposed the “Diffusion of Innovation

Model” This model is also referred to as the “Technology Adoption Life Cycle Model.” It breaks down

the market into five “segments” and can be visualized as
label (3 points).

a labeled curve. Please draw the curve and
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8. What is an s-curve? Sketch if helpful to explain. (3 points)
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9. As discussed in class, Geolfrey Moore proposed a marketing theory known as “Crossing the Chasm” in

1991. Sketch and label Moore’s crossing the chasm figure (5 points). @)
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Disruptive Innovation
In their 1995 HBR article Joseph Bower and Clayton Christensen discuss disruptive technologies. Please answer

the questions below based on that article.

11. What is “sustaining innovation”? Discuss how sustaining innovation impacts performance along the
dlmenSIons that are important to customers of industry leaders in the given industry. (3 points)
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12. What is “disruptive innovation”? Discuss how disruptive innovation impacts performance along the
dimensions that are important to customers of industry leaders in the given industry. (4 points)
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[exam continues on next page]
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